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20l 22 - FHAY - RAAH(SIH) O & of J &3 oA HinZS2 =
= A 35,900,000 35,900,000 0.00%
ALY 35,574,785 35,574,785 0.00%
Hess 203,782 203,782 0.00%
HEH2AH 121,433 121,433 0.00%
sH3LES 28,051,032 28,051,082 0.00%
Mo E - 2 20,262,535 20,262,535 0.00%
MAaT Alg e 16,642,032 16,642,032 0.00%
ML ANYSLIHSH (4 TALSEEN) 16,642,032 16,642,032 0.00%
St 22 3,501,503 3,501,503 0.00%
FENLSESH (RN ) (FEMLSE 3,501,503 3,501,503 0.00%
3l
HRE=(a6taE, +5) 119,000 119,000 0.00%
SRS (FEMLSLESH)(FEMLS L3 119,000 119,000 0.00%
)
Hol2 7,788,497 7,788,497 0.00%
HoI2(8=)xea 7,788,497 7,788,497 0.00%
FENLSLESH (Bl (FEHLSE3 A 7,788,497 7,788,497 0.00%
)
NP 996, 190 996, 190 0.00%
INEMEEE 911,408 911,408 0.00%
ELIPIEPUE R 911,408 911,408 0.00%
HASESA2Z0NA(AR300I12 S35 H) 657,353 657,353 0.00%
FOASKFLMSAFH SN (FULSL 254,055 254,055 0.00%
UMY B SEEH)
Ab3l = X B 84,782 84,782 0.00%
WRES(FU=EXD) 84,782 84,782 0.00%
BEIUS(A230II2sE3AH)(A30012 84,782 84,782 0.00%
Sg3)
M. =AY 3,065,115 3,065,115 0.00%
MRS . D 3,065,115 3,065,115 0.00%
NEEDS =25k 3,065,115 3,065,115 0.00%
SZNRAZLHANLSLESN 2RI (S2XRZTY 3,065,115 3,065,115 0.00%
tds=s)
2EYR YR 3,666,230 3,666,230 0.00%
= 2,808,409 2,808,409 0.00%
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